
Time: 40 Minutes Paper G. Science 6th Total Marks: 25

6th Month, 4th Week, 6th Day Syllabus: Monthly Test (Unit 11 + 12)

Q.No.1 Encircle the correct answer from the following choices. (1×10 = 10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

1. Meteoroids are male of: ¢¢¢¢aaaaZZZZààààiiii''''''''''''ÆÆÆÆ¶¶¶¶ƒƒƒƒDDDD÷÷÷÷XXXX

(a) Metals
$45Î

æ
G
HE (b) Non metals **y$45Îæ GHE

(c) Metalloids $45Õä G
Hài (d) Halogens ìº

2. Which of the following are called shooting stars? ZZZZyyyy~~~~ÐÐÐÐÃÃÃÃyyyyØØØØãããã6666ggggiiiiBBBBDDDD÷÷÷÷????

(a) Dwarf planets ezZgs3g} (b) Comets Ã©

(c) Asteroids Z7Zài (d) Meteoroids ¢aZài

3. The first artificial satelite was sent into the space by________

ªªªª¡¡¡¡¦¦¦¦]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$''''''''''''ääääÜÜÜÜ~~~~5555ååååXXXX

(a) Ameria Z%M (b) China e¤ (c) Russia gzk (d) India Z&+c*

4. In sputnik-2, the passenger was: ~~~~))))����ÛÛÛÛååååXXXX 2 7777ãããã

(a) Rat a; (b) Dog Â (c) Rabbit yÍl (d) Bat ÆŠh

5. The satellites moving in low Earth orbit complete one revolution in:

iiii}}}}ÆÆÆÆ−−−−ææææZZZZgggg~~~~½½½½zzzzZZZZáááá]]]]44445555ÕÕÕÕääää GGGGHHHHQQQQZZZZqqqq----6666''''''''''''~~~~åååå™™™™DDDD÷÷÷÷XXXX

(a) 24 minutes 424 (b) 24 hours [RV 24

(c) 20 hours [RV 20 (d) 20 minutes 420

6. So far ________ landsat satellites have been launched.

ZZZZ[[[[JJJJ----''''''''''''CCCCÃÃÃÃLLLL]]]]44445555ÕÕÕÕääää GGGGHHHHQQQQ””””ggggssss™™™™zzzzZZZZññññYYYY`̀̀̀÷÷÷÷XXXX

(a) Eight MJ (b) Nine â (c) Ten Šk (d) Five 0*õ

7. The scientist who became the first man to walk on the moon was:

‚‚‚‚0000ZZZZyyyy����eeee0000++++6666,,,,½½½½zzzzZZZZÑÑÑÑªªªªMMMMŠŠŠŠòòòò¯̄̄̄åååå::::

(a) Neil Armstrong BMg›z8- (b) Yuri Gagarin -g~µ5¾æ
Y

G

Y

y

(c) Halley 
45Ñõ
X
G (d) Arstotle ZgT

8. The passenger on the sputnik-2 was: ””””ggggssss™™™™zzzzZZZZcccc****ŠŠŠŠHHHHåååå:::: 2 7777””””XXXX

(a) Rabbit yÍl (b) Rat a; (c) Dog Â (d) Bat ÆŠh

9. How long does it take for a geostationary satellite to complete one orbit?

ææææeeee~~~~]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$ÃÃÃÃZZZZqqqq----6666åååå™™™™ääää~~~~HHHHzzzz‰‰‰‰ÜÜÜÜ4444ìììì????

(a) one day Zq-Šy (b) one week Zq-ß

(c) One month Zq-¶ (d) One year Zq-‚w

10. Which of the following emits its own light? qqqqggggzzzzffffssss~~~~ÐÐÐÐÃÃÃÃyyyyZZZZKKKKggggzzzzÝÝÝÝ{{{{gggg̀`̀̀™™™™@@@@****ìììì????

(a) Moon e0+ (b) Venus zß (c) Sun Îg` (d) Jupiter œ~

Q.No.2. Write the short answers. (2 <<<< 6 = 12) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX

(i)  What is the purpose of landsat programme? CÃL6,z¤/Zx»HÑì?

(ii) How is crater formed? ¥/JùáCì?

(iii)  How satellites know where we are? ]45Õä G
HQùY…÷āë¹V÷?

(iv) What is the purpose of communication satellites?

ñ
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è

E
GG
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E]45Õä G

HQ»ÑHƒ@*ì?

(v)  Write down characteristics of meteorites. $42.çG
H
GgZQÅS:]KX

(vi) How are artificial satellites playing big role for the betterment of manaind?

¡¦]45Õä GHQZK̈+MÅ4~Æa¾§bZë™ŠZgZŠZ™gì÷?
Q.No.3. What are artificial satelletes? Explain geostationary satellite.    (3)

¡¡¡¡¦¦¦¦]]]]44445555ÕÕÕÕääää GGGGHHHHQQQQHHHH÷÷÷÷ææææeeee~~~~]]]]44445555ÕÕÕÕääää GGGGHHHHVVVV$$$$ÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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